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B. Sc. IVth Semester Examination
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Section A, B and C

follow the in . . . Regular and Private students,
are as show:t:':‘:::;:;og;ven In each set.:tion. Marks distribution for all sstfci::i:
extra time, paper. The blind candidates will be given 60 minutes

¥ : YPYE Section A : Objective Regular 15x2=30/Private 15x1=15
1. ‘(‘z‘)zg—*lem?ﬁwﬁa%ﬂxﬁfkaﬁfﬁaGﬁamrﬁarﬁwnﬁaﬁtmqﬁ:
STguTE q) G 3ramae & q) G smasht . ,
Let : G — G be defined by f(x)o - (w) ¥ (=) o7 & ¥ |

@) G is ) { 1, then fis automorpism, of G if :
a 18 semigroup (b) G is non abelian (¢) G is abelian group (d) None of these.

2. o G TF smaeht wE & AR a e G 7 c(a) =

: If G is an abelian group and a € G then cla)=:
(a) ¢ | ~ (b) (e}
(c) {a) (d) % & H1€ 78 | None of these.

3. gﬁ@igmmm%aﬁtP | o(G) ST&l P TS @I § &« 7%l GF 3999 a (2 ¢) & G T HT

If G is a finite abelian group, P is prime and P | o(G) then there is an element a (#¢) € G such
that : ’

P_ . P_
(@a*=a  PDAVVonline.com (b) a” =e

(@af =G | (d) s7% & F1€ 78 | None of these.
4. T & § $19 o @ T99 76 & : Which of the following structure is not a ring ;
(a) (2 L, '+, ) (b) (N, +, ) (c) R, +, ) (d) (C, +, .).
5, fra ¥ g s o s &4 8 ¢ _
(37) v aE UF AT o @ (7) s QUi o o & B §
(&) v T O & dar ® (z) v oRftve QUi o OF & AT ¥ |
Which of the following statement is true : o E e N
i field very integr omain is a fie
§2; g::g rgl:l:; I;slsa aﬁels (d) Every finite integral domain is a field.
6. Rl a0 (R, +, .) % IoToTaf & §UE H AL € : :
PRI LN . SN il
i i i llection of ideals of any ring (R, +, .) 18 : .
:Il;l;efgi:::tgersecuon Of' ﬂ-"bl:;;lfﬁ’me‘;‘:l - (c) An ideal (d) Integral domain.

7. AT f(x,) xsﬁtyaa'rW%qﬁr,s,tm%amrﬁmawfﬂf%,awf(x,y)ﬁg(a,b)qtafawm%.
i :
Suppose f (x,y) be function of x and y and 1, 5,
at a point (a, b) if :
(a) rt —s2<0,r>0

¢ have their usual meaning. Then f has maximum

d) rt-s*>0,r<0.

(Fl)rt-sz<0,r<0 _ (G}r£-32>0-f‘>0 p.T. 0.
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8. aﬁa=-mma=wmﬂ=ffawf{x)nr&aatai']:f(x}drmﬁ=
() SR o (¥) T s & AT e
(7) Refra v & P sy

(z) T v ¥ R eomes )

Ifa=-w or b= or both and f(z) is bounded then J: f(x) dx is called :
(a) Proper integral

(b) Improper integral of first kind
(¢) Improper integral of second kind (d) Improper integral of third kind.
2
9. J:/ sin?m -1 Bcos™ - lgdp= . .
(a) B(m, n) (b) B (n, m)

(c) -I-Bfm, n)
2

.y.z*mtmﬁmmmwmwt
IfP, Q R are functions of 1, y, 2 then the standard form of La
(a) Pg+Qp=R I.’b}Pp+Qq=R

11. SIH WY r = 6x 7y

BT & -

=R,
The solution of the differential equation r = 6y jg -
@ z=y%+ yf (x) + o) (b) z = x3y3
©2=2+ 54} + 4 (@) &% & 3 78 | None of these,
12, r + 112; = {LW e afleor 3 Auxiliary equation ofr+a2s=0;s.
(’a}n; +a‘=y (b) mz-—a2=0
Wm?_-25-¢ fdlsﬂ#ﬁfﬂﬁ‘rNaneofthese
13 ﬁﬁ:ﬁﬁﬁ THETT & - The Cauchy-Riemanp, equations are :
{a}-ﬁra—‘fam-am-_l du _ dy M Ju
o ™ (b) —(}__‘y_ ==
du -3
© 5= 3k ang # _ v : -
> . d) F=% 3 W T | None of thege,
14, ofr w o =£*2 o
T@=732 w. L=z m g,
Ifw- <Z2+2
T2 Z+3¢ W=T2[Z}=-2—1z—1- then TIT2(2}= .
(a) 3Z + 2
4Z+ 3 (b) 32+3
© iz_i_@ 4Z + 4
TRy 5Z+9 nline.com
15 We_2 @ 2231 DAVVonline.
.( -72-—-_2%Bfﬂirﬂ'§%:ﬁxadpointsufw < are
20, 2 ®) 0, 3 zﬁl
_ ¢
Wi-ﬁgmﬁect: . 2 Esz, 3.
1l af2 g t onB. Short Answer
O $ Gy Regular 5x5-25/private sl
¢ an qtomorphis SR AR ofa) > g
m of 3. Ifae g, of -ﬁ?onp{a).\:ufa} I
el G 7 g Fww oR T 0(@)> 0 then o (pgy ot
ow that cunjuga(:_y is an EqquaI ; 9 g & I
2 Sg-zfﬁ e Telation on 3
oW that » fing R jg Withoy 2erp g; aW?-r afr R ¥ ﬁ?ﬂ?{ >
Wisorg if and 8 |
NTER & afng @St 9 OR 20y if the “oncellation Jau holds in R
Show that the set of ‘-‘Dmplex 'I"Fhﬁq- Wiz &
numbem : f
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+nz=03'-‘2-3ﬁ7[‘fr u=xz+y2+zz%3ﬁtsmmﬁﬁlﬂ I
subject to the conditions ax? + by 4 o2 1 and

4, mmzqﬁqywqwﬁm@%mmﬁﬁm |
, ution uf2=px+qy+pq.

3qqr OR

Prove that the fuction u =43 _ : ' :
corresponding an ic fanction ix.fl;&z + 3y2 + 1 satisfies Laplace's equation and determine

32 - 4 T OR
W="T Wm%fﬁtﬁgeﬂrmmmﬁhq |
Find the fixed points and normal form of the bilinear transformation W = 32=4

Z-1

% ¥ : & swd" Section C : Long Answer Regular 5x14=70/Private 5x18=90

1. aﬁﬁ%%mG%mmﬂwwﬁﬁmﬁtmﬁm%wﬁﬁ%m@
e |

Show that the set of all automorphism of a group G forms a group with respect to composition
of mapping as the composition.
gqar OR

TR o -anaelt wogel F ford Al sy F v 9 ffg @@ Rrg it |
State and prove the Cauchy’s theorem for finite no : abelian groups.
2. W%WWWW@@?W%I '
Show that every finite integral domgin is a field.
Igar OR
Zufgd & & To@ R &7 scls garrd afafams Iu% e qag @ gersrd dar @ )

Show that every homomorphic image of a ring is isomorphic to its Quotient nng.

. & u=x3+y% - 3axy ¥ 3fTw Fi fAd=ar AN |

Discuss the maxima and minima of function u =x°+y? - 3axy.
3gar OR

gnfgd : Show that :
16n .
3 =
fz“ﬂ-f’”’“ =93

4, aﬂfﬁzﬁfﬁ'ﬂ{ﬂfﬁmﬁm : Solve by Charpit's method :
2 2 .
z=px+qy+p*+qg°- com
s OR DAVVonline.co

& HiferT : Solve:
+r+s=1.
prr " pT.O.
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5. f(2) %9 ¥ Reafe &% § R savas sy s fif
Find the necessary condition for f(z) to be analytic.
Fgar OR

I8 Afay gareer B 9w AT A 0, 1 AT o F FEmw 1,1 AT -1 ¥ wlRifmor sw@r

Find the Mobius transformation with maps 0, 1 and « into 1,7 and -1 respectively,

DAVVonline.com

13000 9@50“0‘



